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PART- 1 GENERAL KNOWLEDGE

1. Fafafea 4 § 58 s wu
@ wfta, Ared yeRi, W iR Al
T & U U P U= B P71 347 fean
AT @2

(1) UsIT ggHgH

(2) fivid PRed

(3) 3aU YHY

(4) U ARTIOT

Who among the following is widely
credited with introducing the new
classical form of music, drama,
language and 'Satriya dance'?

(1) Padma Subramaniam

(2) Srimanta Shankardev

(3) Uday Shankar

(4) Shobhana Narayan

2. avs fire | H9-W =1 i
Seafefa gt 82

(1) BT STE3HTFITSS

) =

(3) ATEE o

(4) TSI AEBIZS

Which main gas is emitted from land
fill?

(1) carbon dioxide

(2) Methane

(3) Nitrogen

(4) Hydrogen sulphide

3. S qTATEaRYT § Sl WRd T &9
Terd: A & I & HRUT g 82
(1) TR - ST oM TTeSPTa

(2) FRIFARIBTET

3) Mgy 99

(4) T fafpor

Depletion of the ozone layer in the
upper atmosphere is mainly due to
emissions of the following?

(1) Non-burned hydrocarbon

(2) Chlorofluorocarbon

(3) Greenhouse gases

(4) Ultraviolet radiation

4.aaﬁsﬁ$nwaﬁvﬁu?§w

¥ fore S19-91 471 uged g
(1) IF=< (2) TER
@) WRWR @)

Which instrument is used to measure
the angular distance between two
objects?

(1) Sextant (2) Telstar

(3) Spherometer (4) Refractometer

5. diciiald, divbe did auT a99-
da @ ¥ e vy d faefsal #
e HH: el 87

What is the number of players on
each side in the games of volleyball,
basketball and baseball respectively?
(1)5.6,9

(2)6,9,5

(3)6,5,9

@ FH AP WA T
6. foray Nwe @ &1 wduYH g

H UTA g1 22
(1) W= (2) FTETEIRSC
(3) Tum (4) A=

Which nutrient is first digested in the
mouth?

(1) protein (2) Carbohydrate
(3) fat (4) Vitamin

7. 7S fraer g 9d @2

(1) W (2) PralgIEge
(3) 991 (4) T8 A DS 7T

Jaggery is the main source of?

(1) protein (2) Carbohydrate
(3) fat (4) none of these

8. Uxrar 9ot 39 fgdta & wifte
P are fafew S Ra B U

(1) 3iiew (2) AaFH

@) TR (@)

Who was the British general who
defeated Peshwa Baji Rao II?

(1) Autrum (2) Malcolm

(3) Elphinstone (4) Kitchener

9. 90° Ud I-TR ¥@T aUT 91° Gd
$Jd TR IR 3T & He g3 gl 82
(1) I

(2) 5 fpanitex

(3) 50 fraitdier

(4) T St T§ YAW Y@ W 3

What is the distance between the
longitude line at 90° East and the
longitude line at 91° East Pole?

(1) zero kilometer

(2) 5 kilometers

(3) 50 kilometers

(4) Same as it is on the equator

10. Frufafaa & A g safy & uRa
A S e fAwpie &t eafy & +=u A
ST ST 82

(1) @ 1951-1981

(2) a9 1981 & 91¢ | 3F dP

(3) @ 1901 - 1921

(4) 9 1921 - 1951

Which of the following periods is
known as the period of population
explosion in India?

(1) Year 1951-1981

(2) Since 1981 till now

(3) Year 1901 - 1921

(4) Year 1921 - 1951

11. HRA H ARG T oisdt 3t

P fafrafta swar g2

Who regulates credit rating agencies
in India?

(1) IRDA (2) RBI
(3) SEBI (4) SBI

12. YUTSH Twt & faoiar ud v yRa
1N & A Qa1 o 9rar fpde
PU T HEaATdT 82

(1) faorg g grot

(2) geftu STt

(3) QAR TG

(4) T STBL

The Cricket Cup match played
between the winner of Ranji Trophy
and the team of Rest of India is
called?

(1) Vijay Hazare Trophy

(2) Duleep Trophy

(3) Deodhar Trophy

(4) Irani Trophy

13. Fg # & 919-91 3w WRa &
[Ty Y T IGT AT AT 82

(1) AT (2) fiefidie

3) fmsit (4) TTfhT

Which of the following countries
shares maritime boundary line with
India?

(1) Maldives (2) Philippines

(3) Fiji (4) Pakistan

14, XSG GHT BT WG T4 &
ford e oy it R

(1) 35 94 Ft Mg

(2) 30 9§ @ N

(3) YATH 3TY Sl URd & 3U-
Tguta ¥ R aifea 8

(4) 25 99 Bt AT

The minimum age to become a
member of Rajya Sabha is:

(1) 35 years of age

(2) 30 years of age

(3) Minimum age required for the
Vice President of India

(4) 25 years of age
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15. WY HTeT fhad sRTaR g 82
(1) ST GTeT-SATST ST

(2) SIC 9TeT - ST SGTet

(3) 3T HTET - ST SHGTTIH

(4) T4 A DI el

What is principal deficit equal to?
(1) Revenue deficit-interest will be
paid

(2) Budget deficit — interest payments
(3) Income deficit — will pay interest
(4) none of these

16. YR IR & gDe 123 &
AR Jrearew, ot fr adt T@ wd
YHTT QT 94T F T9g & uia ue
Sifferm, & Iguivon w3 Bt Afwar
e u‘dﬁ;ﬁ TR

(1) URd ?Ig'ﬂa

(2) HRA & JUTTHA

(3) YUl BT FeTg W qUTHA

(4) HRT BT HaT= qrATed

According to Article 123 of the Indian
Constitution, who is given the power
to promulgate an Ordinance, which
shall have the same force and effect
as an Act passed in the Parliament?
(1) President of India

(2) Prime Minister of India

(3) Prime Minister on the advice of
the President

(4) Supreme Court of India

17. URAW Sfdy= § - vy Hifa &
e Rrgia ot fra wmr & R
oo 31 ma 32

In which part of the Indian

Constitution "Directive Principles of
State Policy” have been indicated?

Ml @n

(3) @ v

18. WY & TS 171 F

SER I59 & fau uivug # wewi
o1 pa T fdt ot gz P
=T ¥ B LN gt

(1) 40 9o

(2) 60 o

(3) 100 a1

(4) SR A H1S T8 2
According to Article 171 of the
Constitution, the total number of
members in the Legislative Council of
the State shall in no case be less than
the following numbers?

(1) 40 members

(2) 60 members

(3) 100 members

(4) None of the above

19. GfIYH & 3¢ 243 B (1) TAD
9 ¥ TP AR & TS T YAy
FAT 31 3 IS¢ B UTad $T WR
it <igfife feram wrar 82

(1) Tie & foren wR

(2) Tiia, Aead Td forem R

(3) Had Ta wWR

(4) Haa forar w

Article 243 B (1) of the Constitution
provides for the constitution of a
Panchayat in every State. The level of
Panchayat which is referred to in this
article?

(1) Village and district level

(2) Village, intermediate and district
level

(3) Village level only

(4) District level only

20. Ffaf@a & @ -1 ur=
T YR | fRya T8 &2

Which of the following ancient sites is
not located in India?

(1) &1 (Hunsgi)

(2) &Y (Hallur)

3) 37ITFI1T\I’H (Inamgaon)

(4) BETTE (Mehrgarh)

21. I8 HENTRI Hd §d@ TR
@mm%@ﬁ%mwmm
IR weAfd & ST IUAN
T8l B APHan

S%manﬁwaa%zoomtﬁa

(2) 3= fde &= & 100 wHS! Hia
AW

g)qgmanﬁmaaaﬂg.zmﬂm
%)manﬁwaaénzmtﬁaﬁ

These ocean resources belong to the
open ocean and no single country
can use them without international
consent.

(1) Beyond 200 nautical miles of the
exclusive economic zone

(2) beyond 100 nautical miles of the
exclusive economic zone

(3) beyond 19.2 nautical miles of the
exclusive economic zone

(4) beyond 12 nautical miles of the
exclusive economic zone

22. YayquTel @y 999y Hewayguf
gzwm%ﬁ«%ﬁwﬁﬁamﬁ@a

(1) Ieg-9ex  (2) Sifs=m
3) Heiled (4) TSI

Panchpatmali deposits are the best
important bauxite deposits located in
which of the following states?

(1) Madhya Pradesh

(2) Odisha

(3) Karnataka

(4) Rajasthan

23. T® T Wi ¥R H T
fpaa feaum Adie 3t smazawar
il 82

Approximately how many kilograms
of manganese are required to make
one ton of steel?

(1) 10 feaum

(2) 20 foeum

(3) 50 foreum

(4) 100 fHaruma

24. QISHA PHIRF FTIT ____ AUTI
(1) YRA &1 Ieae Hfaw Faifea
BT

(2) YR &1 ufife ufasy

Fruffa s

(3) YR &1 A ufas Fuffa
BT

(4) YR &1 i ufasy

Frifea s

The objective of Simon Commission
was .

(1) To determine the political future
of India

(2) To determine the religious future
of India

(3) To determine the educational
future of India

(4) Determining the economic future
of India

25. W a0 (320- 540) & XA
FIRA g TFR & T9de dig
Y R 59 &1 afoR 82

(1) 9% T«

(2) o5 T

(3) PR T

(4) IR

Who had the authority over the Iron
Pillar near Qutub Minar during the
rule of the Gupta dynasty (320-540)?
(1) Samudra Gupta

(2) Chandra Gupta

(3) Kumar Gupta

(4) All of the above
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PART - || THTY §fSHdT Ud dadh=ifad

26.9f¢'A' BTHIS 1, 'B' BT13,'C FT5
gt w9 o Mt ot T wraT € @
'"MAIZE' JTsg @1 3iata a Fafafad
T T gm?

If the code of ‘A’ is written as 1, ‘B’ as
3, 'C' as 5 and so on, then which of the
following will be the numerical value
of the word '"MAIZE"?

(1) 103 (2) 79

(3) 86 (4) 99

27. 391 @t HaT § asfeal d
T ASHI DI g1 3@ HUR A 179
TE R g1 afe 3@ & mt 7 asfear
g ok wam # aif~w 9 @1 &1 ”IF

%ga?%,a‘rmﬁﬁ%mﬁﬂm”

There are twice as many boys as girls
in Rekha's class. Rekha is at 17th
position from the top. If there are 7
girls in front of Rekha and Rekha's
rank is 20th from last in the class,
then how many girls are behind
Rekha?

(s 2)4

3)3 4)2

28. T WS ¥ UAs & forw wla 40
firle W t& 39 gedt 31 e ymars
Fah TH SATeH F Fedar 3 fF 99 10
fiie uea @& 8 SR orTelt
T 10:45 AM TR Feiit | 39 fad &
g SR fhdd a9t € 12

A bus leaves from one stand for
Chennai every 40 minutes. An inquiry
clerk tells a man that the bus left 10
minutes ago and the next bus will
leave at 10:45 AM. At what time was
this information given to that person?
(1) 10:25 AM (2) 09:55 AM

(3) 10:15 AM (4) 10:35 AM

29. 9 & 7S el @ TGems &
afe; UEA &1 3P 3TN A Srgd-gad fag
W18 Y 57 ) s B RISt HH
T TEH W g RM R BH-11 S=
gl

If the first two digits of the numbers
given below are interchanged, then
when these new numbers are
arranged in descending order, which
number will be in second place?

(1) 652 (2) 198

(3) 436 (4) 563

30. fod T fawent # A faqu "=
(?) 19 Y2

Find the missing number (?) from the
given options?

2 8 4
5o 3 2
(M3 (2) 4
3)5 (4)6

31. 3T 1 U for Y 3 #ea
Pl % a8 W a1 & TR o1 33»7%51
giar 81" o & 39 afea &1 et 9
T HEY F?

(N TRTYE  (2) T

(3) UTE (4) Suafw Sfidps
Alka pointing to a picture. Said that
"He is the only grandson of my
mother's father-in-law." How is the
person in the picture related to Alka?
(1) cousin (2) uncle

(3) brother (4) Insufficient data

32. 39 fdwey srepfa &1 au+1 Hiforg
o & it anqﬁ%f (X) SHF TH HAT
FeudffRad

(o Y argafa T8 9

Select the option figure in which the
given figure (X) is included as a part
of it.

(rotations are not allowed)

W

@ ‘

(1) //0 () @-

(3] @-[4} @

33. JgE H ST FT SATTT?
CXDW, EVFU, GTHS, IRJQ ..coce........
(1) KPLO (2) KPMO

(3) KPNO (4) TTH A PIE T

34. Fafafea wssl & e & <t

HYeT ¥ e 3 a1 wyer § o el
T T:

(1) 5 (2) e

(3)darg (4) o

Among the following words, choose
the one which is different from
community or not related to

community:
(1) Water (2) Gasoline
(3) Air (4) Cement

35. 9f¢ INDIA = 125, ENGLAND

= 343, 74 dd NEWZELAND =?

If INDIA = 125, ENGLAND = 343, 74
then NEW ZEALAND =?

(1) 468 (2) 1331

(3) 512 (4) 729

36. HH-W S APHfa Uy 3Pl
% fow T A w1 T i

Which answer figure will complete
the pattern given in the question
figure?

WY TR
AN

N
I TRiaEr

W NLA1@ TN

(3) (4) 2]

fdw: Fufafea uy e ufowm &
SROT Bl 8 | UYW & TRl & IR
fedt adb &1 SgERYT FRd U HwTan
4T g1 3T I aF BT SFERUT B
T TRR T BT IR UTed B SR 39
ﬁﬁq F g4 o vy g @t
wfa=fia Fear gl

37. x. b =, 876
el B @ 8 GH
Xy + yz - pq ?

(1) 46 (2) 80

(3) 92 (4) 100
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38. fafafEaa uy & ugd =g &1 goi
FH & U iR g W BT IR
mﬁ%ﬁqﬂﬂa{&ﬂ’rmgaﬁlaa
&R S Ugd Reg B qu
aﬁuﬂmma‘saﬂwﬁaﬂml
OPTI (eveeenene ) RLY:

(1) CALL (2) MISE

(3) MIST (4) UMUM

fad=r: afe “LovE I1s D|V|NEGI§—?|<:)rsTPr

¥ “OLEV RH WRERMV" ferar
Fe U & YR W Fufaf@a vt &
gnﬁa%ar&lﬁ%wmmﬁ

Direction: If in the code language “LOVE
IS DIVINE” is written as “OLEV RH
WRERMV”, then on the basis of this
code language, choose the appropriate
code of the capital letters word given in
the following questions?

39. PETTY
(1) KVBGG (2) KBVGG
(3) KVGGB (4) 379 q B T

40. & ¥ mpfa & IW WS <dur
yfafes « gihg, st 9 qxie o
SR U T AB TR W W |

Select the correct mirror image of the
given figure which will be formed
when the mirror is placed on AB as
shown below.

W SR
A
=/

2] +[©
S [3

41. Fufafas ffm A ok B faftm
Tegait W P Y oqaf #) gRia g1
The following figures 'A’ and 'B' show
the expenditure incurred on different
goods.

s
=

A . - B
P 1 frspd g a8 22
(1) A GTRITH X B A SUTS1 @d a1 8

(2) B ®US T4 fH W JuE &9
JEd prare

G APTFIS REIBIAPAE

(4) A BT fm R srcafte @ @
Which conclusion is not correct?

(1) A spends more on food grains
than B.

(2) B spends equally on clothes and
rent.

(3) A's expenditure on clothes is less
than B's.

(4) A has excessive expenditure on
rent

fdwr (42) R A e U uy A =
Pyl & YT IR Fwd 1 wg v
fed e &1 suepl i3 U HU=T B At
UHEAT 8 9afU 3 HIyRor gid a9
3@ g1 9t fAepet &t ud wa fAfda
$ fob S a1 far war fsed Jreror
Td a0} B SrageHT #ed g¢ fad Ty
gﬁr‘mmﬁmwﬁmm
|

42. HYF
a. AN TR 2

b. $O A W 2

c. g iR A= §1
e

. o U W E

Il. $ A9 Ufya B

n. $© _a 99 7
|V.ﬁ$ﬁﬁ&ﬁlﬁa;§f§

(1) Foft SrgERor

() Fa@ T al Il AT IV BT TR
HAT 8

(3) ad T Al 11 AT 11l HT TEAROT

AT
(4) 3TH A I TEI

43. Us far 3R g @ Hgdr 8, "o
9 UeT 5U @ a9 ¥ grerl aduE oy

FT A AT U411 afg far «t a?f:rm
arrg4satf%,a‘r4a'cfﬂ3ﬁ‘lﬁaﬁarrg
feait 7t g

A father says to his son, "l was three
times your present age when you
were born."” If the present age of the

father is 48 years, then what would
have been the age of the son 4 years

ago?
(1) 16 2 129¢

3)8ad (4) 6 a¥

44. 3, fawa, gia, due R
AR TP 3(elT-3eT WY R el
Tgad 31 g, fuw o e @
TR Afp Pad f39d & 91g ugaar g |
A= Tpa ® ugHA aren o< 8 7
o § 3 § B Ugadr &2

(1) T8

Anand, Vimal, Sunil, Deepak and
Hemendra each reach school at
different times. Sunil reaches before
Deepak and Anand but only after
Vimal. Hemendra is not the last to
reach school. Who reaches school
last?

(1) Hemendra

(2) Deepak

(3) Insufficient data

(4) none of these

45. 39 ey &1 997 =, oed &
T$ amepfa siafifea 81

Select the option in which the given
figure is embedded.

N
(1) : 2) /7Z

B @

46. 39 fawew o1 799 9, ©i fjg 1w
g & guur wfafos & fear @
wia guor g 3R ¥ T 87

Select the option which matches the
mirror image of the given word when
the mirror is placed on the right side?
AIM

(1) WIA (2) AIM

(3) AIW (4) MIA
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47.U,V, W, X, Y 3R Z b5 #1 iR §g
P JOIOR 39 ARG 98 § & s
IFA-FFA G X, Z IR VS T A B
U XFaEH 3R Y F ITT A gERT
X F aA %?
UV,WXYandZ face towards the
center. They are sitting in a circle in
such a way that everyone faces each
other. X is between Z and V. U is
second to the left of

mw @Y

3)Z 4 Vv

48. fFafafea gear & sm am
Tl ATHTd BT 997 Be |

Select the figure that comes next in
the following series.

Q Q

210

K| @&

{3i S @

O

49. 39 fIwed &1 T BN, N TR
wTH I we ¥ walm ¥ R
PR GORT UG Ugd UG ¥ Hafid g
Select the option which is related to
the third term in the same way as the
second term is related to the first
term

PEl : WF :: $d:

() =@ @as

3)dd (4) 9H9

50. faT T gfieRuyr %) WS TR F
gﬁm’w 3 AR ) W age

Which two signs need to be
interchanged to make the given
equation correct?
100+10x100-10+ 100 =910
(1) + 3R - () + 3R +

(3) + 3R x (4) x 3R -

PART - IIl YRS fHsfr

51. T a9 @! B ok ufkfyr &
3R 37 9. 31 g St uRfr @2

The difference between the radius
and circumference of a circle is 37 cm.
Is. What is the circumference of the

circle?

(1) 7 9 (2) 44 T+

(3) 154 I+t (4) T8 A PIE &Y.
5 1 1 1 g

52.1—I+5+E+ZH:THT=I%?

(1)§ (2)§1

(B)E (4)E

53. U 41§ SieM U fAfda gt &t

240 fHaries yfd g ) 9rd wv 5 e

AaaaRargisH g 12w da
P F g, 39! g F) 9ra
aIee?

An airplane covers a certain distance
in 5 hours at a speed of 240
kilometers per hour. To cover the
same distance in 1§ hours, its

traveling speed should be?
(1) 300 f& . /ger
(2) 360 ft./ger
(3) 600 ft./der
(4) 720 fHH./geT

54. P feft &7 31 wfafe 8 42 b
12 o7 & 1 HRar B1 P 9 I
10 °¢ ufdfe &4 wR 8 faa & w1
FA1 71 Al 'P* 3R Q' gl firaa 8
He ufdfea ol #%, df o fbaq fa=
T RT g1 SIEm?

'P' completes a work in 12 days by
working 8 hours a day. "The same
work done 10 hours a day completes
it in 8 days. If 'P' and 'Q’ both work
together for 8 hours a day, then in
how many days will the work be
completed?

M55 55

(3) 6 4) 6=

55. T URAR H S g5 HArar-fa,

31 arar-fiar ok 9 o= e §) afe
g5 rar-far &Y sia 3mg 67 af €

3R ATar-fuar #t sivra 3mg 35 'q'tiaﬁ?
aaﬁaﬁaﬁwa&rrgsacf% TRarR $t
3frra emg w2

Two elderly parents, two parents and
three children live in a family. If the
average age of elderly parents is 67
years and the average age of parents

is 35 years and the average age of
children is 6 years, what is the
average age of the family?

(1)28§a1sf 2 31§a1sf
(3) 3233& (4) T8 A PIE T

56. T quTPR UTd st ulki¥r 176
Hiex 3, 39S IRI 3R T 7 Hiex WSt
USH 71 ASF BT &A% &7

A circular park whose circumference
is 1776 m has a 7 m wide road around
it. The area of the road is?

(1) 1580 Tif Hiex
(2) 1468 Tif Hiex
(3) 1386 9if Hiew
4) TTH A DI To!

57. 20 HIZATE TF AT AR T STA
P16 RAT AT 116 P S®
T e s RAT W AT I PR
%r,l%?n & B B DI &HAT BT 3FUTd
20 women together complete a work
in 16 days. 16 men complete the same
work in 15 days. What is the ratio of
the efficiency of men to that of
women?

(13:4 (2)5:3

(3)4:3 4)4:5

58. fha wHg # 2 8,000 B AR
10% ufaad Twgfs &I &t ¥ W
9,261 Tll, 9§ Uhqles STl BHTG
T ATl 32

In how much time will a sum of ¥
8,000 amount to ¥ 9,261 at 10%
compound interest per annum, when
the compound interest is
compounded half yearly?

(1) 2af (2 3;af
(3)1%3& (4)2%3&

59. g TwWASf BT 110r=rtb—cr 320 §
3R ST U 1 : 5 g1 39 g
TEmel & af & o BT R T
grm?

The product of two numbers is 320
and their ratio is 1 : 5. What will be
the difference between the squares of
these two numbers?

(1) 1430 (2) 1536

(3) 1516 (4) 38 A P &1

T & | 10 T & Rge 9 F@n
ﬁﬁﬁﬁ%’
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An amount of ¥ 36.90 is made up of
180 coins which are either 10 paise or
25 paise coins. What is the number of
10 paise coins?

(1) 50 (2) 54

(3) 62 (4) TTH A PIS To

61. A Td B WUl TG i Pt urgaii
B HH:5:3TF5: 11 W e a9
§s iy urg €1 ud® iy urg &) au=
UET § TATdH) T diest [y 91g ¢
TR et 31 fry e ¢ W waof v amg
T JUTd FIT ST 2

A and B are alloys made by mixing
gold and copper metals in the ratio 5
: 3 and 5 : 11 respectively. A third
alloy C is made by melting equal
amounts of each alloy. What will be
the ratio of gold and copper in alloy
c?

(1) 33:25

(2) 25:33
(3) 15:17 (4) 379 q P 7Y
2 1 2 1
62. 115 XZEX1§X3—§+11=?
;2112 U577 T3
5-13
(1) 325 2) 145
(3) 195 (4) T8 4 DI QI
63. 6 & TYW 18 TUIGI &1 fTa T
grm?

What will be the average of first 18
multiples of 6?

(1) 55 (2) 56

(3) 57 (4) 58

64. FPRIT VY™ W @ WQa et
P &FaT 400 fieR 71 FHART 40 lex
Id Uo UEF P ¢H | 91 & T
I9P q1¢ ITBT Yfel gt & da d
491 B1 TE Uil ©: AeD! A e
STt § 1 ATad I8P §RT 40 WAteR Ueid
I H R FF Uetd &1 fhast amr
it sreati?

The capacity of a petrol tank at a filling
station is 400 litres. An employee sells
40 liters of petrol from a tank to a
customer and then replenishes it with
kerosene. This process is repeated with
six customers. What quantity of pure
petrol will be found by the seventh
customer when he purchases 40 liters of
petrol?

(1) 20.50 AEX  (2) 20.25 TR
(3) 21.25 e (4) STH A BIS AT

65. TP a&] W 15% B! ¥e det & &l
o a8 avg W 20% F11 ST agait
P AT Yo B Al 82

A discount of 15% on one item is the
same as 20% discount on another
item. What can be the cost price of
both the goods?
(1) Rs. 40,20
(3) Rs. 80,60

66. T% UTsy flt &t &1 5 °e A
TP ¢ IR gURT UISY S Bl 4 6
JTell HX AHdT ¢ | afe Tt gola:
g 81 ayT g1 U Wl & @i fear
at et forat wwa | @relt g1 St

One pipe can fill a tank in 5 hours and
the other pipe can empty the tank in
4 hours. If the tank is completely
filled and both the pipes are opened,
then in how much time will the tank

(2) Rs. 60,40
(4) Rs. 100,80

4

A5%

be emptied?
(1) 10 hr (2) 20 hr
(3) 30 hr (4) None

67. A 53 o9 &) 20 fe7 A HeaT &,
M BIA PH B 10 A A BaT g, @Y
%ﬁwwmﬁﬁo—cﬁﬁﬁﬁ

If A does a work in 20 days, B does the
same work in 10 days, then in how
many days will both of them together
do that work?

(1) 6 2/3 days (2) 5 2/4 days

(3) 72/4 days (4) 6 2/8 days

68. 3 9 A, B 3R C f&ft ¢t 31
PH: 12, 15 R 20 G H R ASA G|
gfg T4 g w1y @ie fag omg, o <ot
fam 9¢ 7 R wett

3 taps A, B and C can fill a tank in 12,
15 and 20 hours respectively. If all
three are opened together, then in
how many hours will the tank be
filled?

(1) 4 hr (2) 5 hr

(3) 6 hr (4) 10 hr

69. A 31 BV FI 3 f1 d U1 B TH
MUE FH B 4R AR IPaTE 1
T e 39 & fran A & #=
THa 87

A can-do half of the work in 3 days
and B can do one-fourth of the work
in 4 days. Then in how many days can
both of them together do the work?
(1) 34/12 days (2) 4 4/11 days

(3) 6 4/10 days (4) 5 4/10 days

70. &Y T4 A 3R B fH:ft ot 1 HH:
12 3T 15 U2l § R Hopd & a7 =T
9 € U3 g5 B B 20 °S W WAl B

Todr € afe 91 Tal B v |1y @e
fear wimg, qt bt fpa e ® R wTERfi?
Two taps A and B can fill a tank in 12
and 15 hours respectively and the
third tap C can empty the filled tank
in 20 hours. If all three taps are
opened together, then in how many
hours will the tank be filled?

(1) 8 hr (2) 9 hr

(3) 10 hr (4) 11 hr

NUGFHBI FRAABPIATIICS
Y HTH HIA Pt a1 | fo=n wug
AT & GUT C BT A 3R B & 1Y HTH
P B g § I THY AT § |
deduR dfe @il aafed te a1y 99
FHB 10RAA TR IPAE AA D
foaaT awg @

To do a work, B takes thrice the time
as A and C and C takes twice as long
as A and B. Accordingly, if all three
people together can do the work in
10 days. If A can do it, then how much
time will A take?

(1) 22 (2) 23

3) 24 (4) 25

72. (S PH P I & LA DI B &
C & 1Y B I B ga-n | foarFn
HHY AT § TUT B B A & C & Ay
BT HIA Dt g1 | 4 AT GHT T
§ 1 afe d= cafaa a1y &3 &3 ot 24
o & o wod §, a1 A rdar fear
ferdsem

To do a piece of work, A takes thrice
the time as B & C and B takes 4 times
the time than A & C. If all three
people work together then they can
complete the work in 24 days. If A can
do it, then in how many days will A
alone do it?

(1) 96 (2) 97

(3) 98 (4) 99

73. f<ft awa & A, B & STUT HTH HRaT
FrcsMIaa & A & B 9 34T HH
H1 § | afg € e I B B 40
o & o% gar §, @t di+l fraey 39
P B fhae fai & e

A does half the work of B in a given
time. C does half the work of A & B in
the same time. If C alone can do the
same work in 40 days, then in how
many days will all three together do
the same work?
(1H131/3
(3)151/4

(2)141/2
(4) None
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74. A,Baﬁvcwmﬁaoﬁ-—rﬁ'

A, B and C can do a work in 30 days.
The work efficiency of (A + C) is twice
that of B. The work efficiency of (A +
B) is thrice that of C. In how many
days can A alone complete the work?
(1) 72 (2) 80

(3) 75 (4) None

75. A & B {5t &1 3t ¢ & e gHy
T &Y TPd ¢ | 99fP B & € I B
PAF1/3ATA IR IgPd e 1A T
A Ts T FH HRA g al 20 oA A
[T g orar € 1) & A SrerT-srer
I H P fpa &7 d 3

A & B can do a work in half the time
of C. While B & C can do the same
work in 1/3 time of A. If all three of
them work together then the work is
finished in 20 days. Then in how many
days will all three of them separately
do that work?
(1) 80,48,60
(3) 55,48,72

(2) 48,60,80
(4) None of these

PART IV: ENGLISH

76. Four words are given, out of
which only one word is spelt
correctly. Choose the correctly spelt
word and mark corresponding to it.
(1) Conniosseur (2) Connoisseur

(3) Connossieur (4) Connosseiur

77. In the following question, out of
the four alternatives, choose the
word which is opposite in meaning to
the given word and mark
corresponding to it.

SOOTHE
(1) QUENCH (2) MITIGATE
(3) HEAL (4) AGITATE

78. In the following question, out of
the four alternatives, choose the
word which best expresses the
meaning of the given word and mark
corresponding to it.

DEVASTATION

(1) DESTRUCTION

(2) CONSTRUCTION

(3) SEPARATION

(4) FRUSTRATION

Directions (79-81): Out of the four
alternatives, choose the one which
can be substituted for the given
words/sentences and mark
corresponding to it.

79. An exact copy
(1) Facsimile (2) Twin
(3) Mirror (4) Clone

80. To give money to agents for sales
(1) Salary (2) Commission
(3) Fee (4) Incentive

81. A person who is working in the
same institution
(1) Guide

(3) Captain

(2) Collector
(4) Colleague

Directions (82-84): In each of the
questions, four alternatives are given
for the Idiom/Phrase. Choose the
alternative which best expresses the
meaning of the Idiom/Phrase and
mark corresponding to it.

82. Catnap
(1) Rest (2) Fitful Sleep
(3) Long Sleep (4) Short sleep

83. To pull a long face
(1) Looked happily
(2) Looked surprised
(3) Looked sad

(4) Looked calm

84. Fit her like a glove
(1) Too large (2) Too shabby
(3) Too tight (4) Perfectly

Directions (85-87): The sentences
given with blanks are to be filled with
an appropriate word(s). Four
alternatives are suggested for each
question. For each question, choose
the correct alternative and mark
corresponding to it.

85. Health is too important to be
(1) discarded

(2) disposed

(3) neglected

(4) detested

86.1am .......cccceueeeeee this crime.
(1) ignorant on
(2) innocent of
(3) indebted to

(4) ignoring
87. 1 was ....cceeeeeeeeee paying the toll
tax.

(1) free from

(2) exonerated from
(3) exempted from
(4) exposed to

Directions (88-90): In the following
questions, one part of the sentence
may have an error. Find out which
part of the sentence has an error and
mark corresponding to it. If the
sentence is free from error, mark "No
error” option.

88. | used (1)/ a pair of black trousers
(2) / for a week. (3)/ No error (4)

89. He has made a mistake (1)/ of
which (2)/ | am certain. (3)/ No error
4

90. He was not allowed (1)/ for the
teacher (2)/ to read in a low voice.
(3)/ No error (4)

Directions (91-95): A passage is given
with five questions following it. Read
the passage carefully and choose the
best answer to each question out of
the four alternatives and mark
corresponding to it.

My mom grew up in a traditional
Chinese family in which open
expressions of love were never
encouraged. When she had me and
my three siblings, she treated us with
the same hard hand. It was not that
she was a slave driver or anything,
but she never openly showed
affection. Instead, she demonstrated
that she cared in more practical ways.
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My parents couldn't have been
emotionally. My dad is a really open-
hearted person who constantly
showers us with hugs and kisses no
matter the occasion. After much
persuasion from him, my mother did
try to change, but it was clear that she
never felt quite right expressing her
emotions. Eventually, she reverted to
her old self.

The difference between my parents
was never starker than whenever |
brought home good test results from
school. My dad would practically
jump with joy, offering warm and
affectionate of congratulations, and
my mother? "Ah, good, good" she
would typically say with a tense smile
etched on her face. "Do better next
time, OK?"

| tried not to hold a grudge against
her for being so reserved. That was
just her way. | reasoned.

91. Why did the narrator not bear a
grudge against her mother?

(1) She felt that her mother had that
kind of nature

(2) She was satisfied with her father's
love

(3) Her mother was incapable of
loving

(4) Her mother was angry with
everyone

92. The narrator's mother reverted to
her old self because:

(1) she fought with her husband

(2) she did not feel comfortable in
revealing her emotions

(3) she was angry with the children
(4) her husband wanted her to be her
old self

93. The narrator’'s mother didn't
appreciate the narrator's results
because:

(1) the marks were not good

(2) the marks could be better
(3) she wasn't very expressive
(4) she was tense

94. How is the narrator's dad
different from her mother?

(1) He is dark

(2) He expresses his feelings openly
(3) He dislikes children

(4). He is persuasive in nature

95. Why was the narrator's mother
not expressive of her love?

(1) She was of Chinese origin

(2) It was not her nature

(3) She was a harsh person

(4) The tradition at her home didn't
allow her.

Directions (96-100): A sentence/a
part of the sentence is bold. Four
alternatives are given to the bold part
which will improve the sentence.
Choose the correct alternative and
mark corresponding to it. In case no
improvement is needed, mark
corresponding to "No improvement”.

96. Both of us had a different opinion
about it.

(1) Both of us has

(2) Each of us had

(3) Each of us have

(4) No improvement

97. The trade union is hell bent at
getting its demands

fulfilled.

(1) hell bent in

(2) hell bent about

(3) hell bent on

(4) No improvement

98. The police had to break the door
to getin.

(1) to break up

(2) to break in

(3) to break down

(4) No improvement

99. The plane landed and shot
towards the airport.

(1) taxied

(2) drove

(3) wheeled

(4) No improvement

100. After a_hard day’s work, I just
want to go home.

(1) hard day's work
(2) hard days' work
(3) hard day work
(4) No improvement
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